BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREKXEIRAO)
UNBEEFHFS) SH3FES5H1H
R s | A0 Oisk 7% 21k 3k 4% 57k
5 % g8 % £ = L = g8 x L ©

ENY = 1TH 1,932 | 4,080 1 17 13 18 16 19 17 18 19 18 20 17
ENY = 2TH 769 1,639 4 5 3 6 7 6 7 5 8 6 10 7
EQNY S 3TH 1,443 | 2776 5 3 13 7 9 5 12 9 14 7 8 12
EVINY = 4TH 1,788 3,513 12 9 11 13 14 12 13 16 10 12 12 16
HINE 5TH 2098 | 3,763 10 10 16 18 10 10 11 13 22 12 11 10
H/IMNE 6TH 1,826 | 3,264 6 7 14 11 8 12 12 7 9 7 11 7
mINE 1TH 3280 | 5525 25 13 27 13 17 13 15 22 17 18 20 15
mINE 2TH 1,293 | 2,186 6 11 6 7 9 4 8 5 7 12 6 6
m/IhNE 3TH 2,892 | 5244 17 15 19 20 15 18 15 9 21 14 13 11
mINE 4TH 1,790 | 3,269 10 6 6 6 8 9 7 11 11 8 10 9
/NG 5TH 2,168 | 3,811 13 10 8 19 11 12 14 9 12 11 12 9
mE/INE 1TH 1,031 2172 8 10 6 6 9 9 7 7 9 6 6 4
m/NhNE 2TH 1,717 | 3,453 7 2 6 11 7 7 5 8 10 3 15 10
m/NhNE 3TH 1,778 | 3,400 9 5 19 7 23 9 14 17 15 12 9 9
mE/NhNE 4TH 1,605 | 3214 3 5 14 6 9 9 10 6 12 8 11 14
m/NhNE 5TH 2,045 | 3,838 13 11 16 10 17 11 15 15 14 12 17 14
mE/NhNE 6TH 2424 | 4019 13 8 10 14 14 5 12 14 11 5 7 10
mE/NhNE 7TH 3,268 | 5,551 17 13 23 11 22 16 15 21 17 20 24 14
m/NhNE 8TH 2,131 3,591 14 12 16 12 20 11 19 9 6 8 15 13
d/hE 1TH 1,286 | 2,267 8 3 10 7 8 9 7 4 4 8 16 6
d/hE 2TH 2908 | 5376 19 16 18 19 13 23 24 20 21 17 25 18
d/hE 3TH 1,356 | 2,535 12 3 10 9 9 13 12 3 14 15 10 9
d/hE 4TH 2,303 | 4503 14 11 26 28 21 19 15 18 16 26 24 13
d/hE 5TH 1,766 | 3,049 8 6 7 8 11 5 6 17 3 7 6 13
d/hE 6TH 2,500 | 4,620 15 7 12 12 18 12 18 15 24 22 26 12
d/hE 7TH 1,477 | 3,216 14 17 19 7 19 13 19 14 12 14 11 23
dt/ha 8TH 1676 | 3,711 6 18 12 14 12 16 17 15 17 15 12 22
&5 52,550 | 97,585 299 253 360 319 356 307 346 327 355 323 367 323
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNBEEFHFS) SHM3FE5H1H
G 67 Ti% 8i% 9% 107% 115 125% 135% 147% 155%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 15 16 18 27 14 21 19 18 23 18 16 19 22 18 21 19 23 22 21 20
ENY= 2TH 7 5 7 6 8 7 3 5 4 3 7 11 7 8 9 7 9 8 6 7
RING 3TH 11 15 11 10 13 8 10 15 7 7 20 10 14 12 15 13 9 9 6 15
HINE 4TH 21 16 15 21 12 16 19 19 10 18 8 10 13 17 16 10 8 11 12 7
HING 5TH 14 11 10 13 20 8 15 8 12 11 12 12 8 11 7 9 6 13 9 14
ENY= 6TH 13 10 11 11 1 18 12 9 13 11 18 9 4 12 14 17 6 13 13 7
NG 1TH 18 21 14 18 15 15 20 11 16 18 15 15 28 15 23 9 24 14 21 12
NG 2TH 3 5 12 6 8 3 6 3 8 7 6 14 6 6 8 4 6 4 4 8
NG 3TH 17 15 15 17 14 13 16 15 10 20 21 24 18 22 22 22 17 17 15 18
NG 4TH 5 11 7 12 8 14 15 10 9 5 5 11 9 10 9 18 12 7 13 5
NG 5TH 13 10 9 13 9 8 12 7 17 10 16 7 14 18 21 18 10 19 17 23
m/INE 1TH 12 7 7 7 6 7 12 9 13 7 10 7 11 12 9 12 11 12 11 13
mE/NhNE 2TH 9 10 15 10 4 9 15 13 13 8 11 17 13 15 14 16 13 15 19 15
m/NhNE 3TH 14 13 14 9 18 16 15 14 16 19 12 12 18 11 20 5 19 11 8 13
mE/hNE ATH 15 10 9 18 19 19 11 15 14 10 15 22 16 21 13 14 13 9 13 14
mE/NhNE 5TH 21 8 12 15 13 11 11 14 8 12 21 7 14 14 10 17 13 15 16 13
mE/hNE 6TH 13 9 8 13 14 12 8 10 15 8 9 14 6 6 8 8 9 13 7 4
m/hNE 7TH 13 23 19 16 13 18 18 16 14 13 14 9 17 13 13 12 10 13 18 21
m/hNE 8TH 13 14 16 8 10 9 9 8 5 9 7 7 10 8 8 2 8 7 10 5
d/hE 1TH 8 8 7 7 7 8 7 8 7 10 14 6 6 6 12 9 7 5 5 10
d/hE 2TH 27 16 22 17 27 13 18 16 23 17 16 19 22 21 22 23 26 14 12 20
d/hE 3TH 8 8 11 2 11 6 6 5 8 10 10 9 6 11 7 7 11 6 10 11
d/hE ATH 15 16 28 11 15 19 29 11 10 15 18 19 20 18 26 14 23 15 18 17
d/hE 5TH 12 5 11 10 13 9 9 12 10 12 4 9 11 13 8 7 11 11 7 7
d/hE 6TH 14 18 16 12 15 18 22 25 14 12 13 14 21 13 11 16 30 10 13 9
d/hE 7TH 13 12 14 14 22 14 13 9 15 12 11 9 17 19 13 15 14 25 12 15
dt/ha 8TH 18 15 15 16 25 18 19 26 17 24 15 20 15 19 10 26 21 23 19 33
=X 362 327 353 339 354 337 369 331 331 326 344 342 366 369 369 349 369 341 335 356 \
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BT T &5 -E55 - B&h et GIFIRX)

BT BAl-F55-B&h etk (EREAXG/RAD)

UNBEEFHFS) SHM3FE5H1H
G 167% 177% 187% 197% 207% 215% 225% 23i% 247% 255%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 19 19 19 23 26 23 16 26 27 21 26 17 24 24 24 16 30 25 21 29
ENY= 2TH 6 8 7 10 7 10 11 5 13 15 6 9 9 9 6 15 11 6 10 5
ENY= 3TH 9 11 13 15 10 11 14 12 15 14 23 10 15 12 24 25 21 22 21 24
HING 4TH 17 14 17 7 19 14 10 18 17 30 17 17 21 31 24 26 21 29 18 13
HINE 5TH 9 18 13 10 12 18 11 14 15 26 16 17 24 18 30 38 29 32 26 26
HING 6TH 11 6 14 14 20 13 11 12 20 21 15 20 21 33 22 18 26 24 30 19
NG 1TH 18 14 12 25 16 19 17 26 31 25 26 35 43 26 44 43 44 46 49 32
NG 2TH 4 6 7 5 6 5 7 3 9 12 9 18 12 24 15 17 17 10 20 15
m/IhNE 3TH 19 16 20 22 25 22 17 19 23 35 39 23 27 36 39 26 43 43 35 44
NG 4TH 12 19 10 9 11 11 20 12 22 19 20 15 22 23 31 29 28 23 28 18
m/INE 5TH 18 21 21 18 11 16 28 16 19 20 28 25 34 18 26 24 32 22 25 33
mE/INE 1TH 8 12 11 17 10 9 12 18 10 11 13 17 17 6 10 18 15 11 11 14
mE/NhNE 2TH 17 21 19 16 13 19 20 19 17 22 18 19 27 15 14 34 21 18 19 15
m/NhNE 3TH 21 15 13 11 13 15 21 7 15 11 17 16 20 16 33 21 32 16 24 33
mE/hNE ATH 14 10 19 11 14 14 17 18 20 12 22 7 13 19 19 14 28 15 11 16
mE/NhNE 5TH 16 12 12 9 14 22 27 18 18 22 23 16 30 30 23 14 34 29 29 24
mE/hNE 6TH 11 10 9 10 7 16 18 15 13 17 17 23 30 22 27 38 26 27 32 36
m/hNE 7TH 14 13 14 13 19 17 20 23 21 31 25 35 40 34 40 35 39 56 34 44
m/hNE 8TH 6 13 7 11 12 14 7 7 23 22 20 27 31 32 27 24 37 32 23 26
d/hE 1TH 2 5 4 12 8 14 8 5 8 11 13 10 12 7 12 24 19 12 15 12
d/hE 2TH 25 16 19 27 19 29 27 23 18 29 30 34 34 31 39 26 50 35 43 38
d/hE 3TH 8 4 7 15 11 8 11 9 17 17 17 18 13 19 28 32 22 21 31 27
d/hE ATH 21 18 21 22 23 22 17 13 25 15 26 22 32 26 28 36 33 30 49 25
d/hE 5TH 11 13 11 9 9 13 13 8 16 16 5 12 21 16 28 23 30 32 24 25
d/hE 6TH 9 21 13 16 15 19 25 19 16 23 27 21 35 37 34 34 42 38 30 29
d/hE 7TH 15 23 18 14 17 15 18 14 20 15 18 16 17 14 18 22 19 20 15 28
dt/ha 8TH 19 11 25 15 31 22 26 7 19 24 17 22 15 19 27 19 20 19 17 25
&5 359 369 375 386 398 430 449 386 487 536 533 521 639 597 692 691 769 693 690 675
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNBEEFHFS) SHM3FE5H1H
R 267% 27i% 287% 297% 307% 315% 325% 33i% 3475 35i%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 19 22 22 20 33 25 23 24 24 26 32 29 14 20 30 22 27 27 34 18
ENY= 2TH 7 6 12 14 12 6 7 11 6 8 5 9 10 6 6 3 13 8 9 10
ENY= 3TH 17 19 16 17 14 15 13 14 14 19 18 14 22 18 14 15 16 15 15 22
HING 4TH 18 24 24 32 18 25 30 23 11 18 18 20 29 12 22 21 21 28 25 26
HINE 5TH 27 31 26 21 38 35 29 30 25 34 32 28 24 25 33 22 26 33 23 25
HINE 6TH 22 30 22 22 34 16 23 22 23 26 18 21 24 13 16 16 24 20 23 23
NG 1TH 45 45 50 49 44 48 38 43 53 35 42 30 45 40 31 36 40 38 52 45
NG 2TH 24 21 24 18 18 9 15 25 19 14 22 13 25 17 16 14 20 11 12 17
m/IhNE 3TH 34 46 44 38 48 36 38 29 32 53 41 26 37 38 39 33 29 46 40 40
NG 4TH 24 20 25 26 31 16 26 22 25 22 25 16 29 30 24 15 18 13 22 16
m/IhNE 5TH 32 33 32 25 39 21 41 36 29 28 23 28 35 32 35 29 38 29 28 28
m/hNE 1TH 11 13 12 12 15 8 11 14 9 7 12 11 10 7 12 2 11 12 7 9
mE/NhNE 2TH 17 11 16 14 17 14 23 19 14 12 9 20 18 9 20 12 15 15 22 17
m/NhNE 3TH 24 32 23 17 18 18 20 9 23 21 28 17 13 9 20 24 13 17 19 20
mE/hNE ATH 16 10 17 18 17 14 17 18 25 14 16 11 12 18 19 21 14 12 18 19
mE/NhNE 5TH 28 17 39 22 23 22 23 20 11 13 25 21 27 23 30 28 30 22 26 24
mE/hNE 6TH 39 36 43 31 31 38 48 27 30 35 32 31 36 27 36 21 32 31 37 16
m/hNE 7TH 66 44 50 39 34 40 44 43 42 40 46 36 39 47 39 36 36 35 34 32
m/hNE 8TH 50 33 38 29 31 43 36 37 33 23 23 21 27 30 20 17 35 25 29 26
d/hE 1TH 17 18 16 19 11 30 26 11 16 17 16 15 21 15 15 11 19 20 16 14
d/hE 2TH 37 36 42 27 33 39 31 34 29 32 29 33 44 36 20 35 35 26 38 32
d/hE 3TH 17 22 21 21 25 17 23 17 20 11 7 24 18 17 23 24 21 12 22 9
d/hE ATH 32 28 37 35 23 25 32 26 34 31 38 23 34 20 30 35 37 25 39 34
d/hE 5TH 27 21 31 14 25 23 17 13 18 17 22 24 22 21 36 20 27 17 16 14
d/hE 6TH 27 32 26 25 32 25 24 27 28 42 42 28 28 27 38 34 34 37 21 37
d/hE 7TH 19 18 22 27 32 16 18 16 23 27 11 18 26 22 28 20 19 23 22 16
dt/ha 8TH 8 19 16 18 22 16 23 15 21 14 16 12 26 20 16 11 15 17 20 24
&5 704 687 746 650 718 640 699 625 637 639 648 579 695 599 668 577 665 614 669 613 |
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITBA-E55-BLh #Hitx (EEREAXREIRAOD)
UNBEEFHFS) SHM3FE5H1H
G 367 375 38 395% 407% A% 425% 435% 447 457%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 32 16 28 31 25 21 23 27 28 18 30 37 22 28 31 27 28 27 35 33
HING 2TH 14 8 5 9 9 8 8 5 11 3 1 9 15 8 16 12 12 12 15 11
ENY= 3TH 20 17 20 15 22 19 13 10 17 15 12 20 21 18 20 18 25 23 17 18
HINE 4TH 25 24 24 21 36 36 25 28 20 17 25 24 30 14 26 26 21 26 20 21
EXINY = 5TH 28 25 35 24 32 30 27 31 26 15 33 19 26 19 29 28 37 28 33 31
ENY= 6TH 25 14 20 15 23 17 24 23 26 16 19 16 21 18 20 24 28 15 26 25
NG 1TH 57 44 40 43 41 40 42 35 44 34 32 28 38 45 55 43 40 41 43 51
NG 2TH 21 12 14 14 14 24 17 17 16 10 18 14 22 16 15 14 18 20 14 13
m/IhNE 3TH 32 42 45 33 31 40 26 33 46 41 32 30 35 29 24 25 57 38 24 36
NG 4TH 21 19 29 20 15 17 23 10 24 23 20 31 31 14 19 20 19 22 31 26
m/INE 5TH 24 18 25 17 26 22 22 26 26 29 24 24 23 27 16 23 32 20 26 28
m/INE 1TH 16 26 14 15 10 4 16 12 8 10 15 11 13 11 20 13 14 15 18 15
mE/NhNE 2TH 20 17 20 12 16 12 12 8 19 10 24 23 17 14 24 22 19 17 18 22
m/NhNE 3TH 25 18 16 22 28 27 19 28 21 19 27 27 22 23 27 23 27 26 26 15
mE/hNE ATH 19 16 15 14 23 21 18 16 21 18 22 19 23 23 20 27 23 26 36 25
mE/NhNE 5TH 24 38 25 24 25 27 20 23 28 20 26 15 23 26 22 25 30 20 32 16
mE/hNE 6TH 36 25 22 15 24 31 24 23 18 23 29 18 24 18 35 24 30 19 24 29
m/hNE 7TH 35 34 55 37 41 33 43 33 46 34 42 30 39 43 42 26 44 41 47 28
m/hNE 8TH 39 18 31 31 27 27 24 26 23 20 32 24 20 24 35 24 27 36 37 29
d/hE 1TH 19 11 18 12 13 20 13 16 15 19 25 18 15 20 20 11 17 10 14 10
d/hE 2TH 36 33 40 39 42 40 34 26 31 35 38 27 39 36 46 40 40 27 39 42
d/hE 3TH 10 26 18 16 18 12 15 14 21 12 13 18 11 14 20 17 21 17 19 13
d/hE ATH 29 19 31 32 23 24 33 30 33 20 34 24 28 29 30 33 26 26 39 34
d/hE 5TH 23 18 19 14 25 16 12 22 20 18 19 17 24 13 23 21 31 27 36 20
d/hE 6TH 31 32 35 34 35 34 41 25 36 31 25 30 32 26 37 34 34 31 26 28
d/hE 7TH 21 21 17 16 22 18 29 16 19 19 22 25 29 18 22 21 22 24 21 13
dt/ha 8TH 23 24 23 16 15 25 24 23 12 30 28 34 31 24 32 29 28 30 22 26
&5 705 615 684 591 661 645 627 586 655 559 667 612 674 598 726 650 750 664 738 658 |
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BT T HAl-FE55A-Bxhl #Hitx (FREXEIEADO)
UNEEFS) SHM3FE5H1H
R 467% 475% 487% 497i% 507% 517% 527% 537% 547% 557%
5 & 5 ES % ES ] S 5 S 5 & 5 & % ES ] S ] %

HINE 1TH 41 35 47 49 35 22 38 33 40 28 30 36 30 26 39 25 23 24 26 17
HINE 2TH 19 19 10 12 23 16 19 19 12 15 8 13 16 15 20 14 19 12 8 8
RING 3TH 22 24 20 22 33 26 31 19 29 21 23 21 20 16 27 19 20 16 29 17
HINE 4TH 15 26 21 26 26 17 32 31 29 22 24 20 27 21 26 21 10 31 29 24
HINE 5TH 23 23 28 27 31 25 22 13 32 28 28 25 31 28 22 27 21 15 28 27
ENY= 6TH 29 31 27 25 24 21 25 26 23 18 29 18 33 35 22 25 16 20 26 26
NG 1TH 42 53 54 46 50 40 50 56 50 42 49 46 42 50 42 35 30 30 33 31
NG 2TH 19 14 23 21 22 22 24 23 27 13 22 14 13 17 18 15 13 14 19 12
m/hE 3TH 41 46 24 41 61 41 44 46 48 32 39 37 40 45 43 30 40 42 44 41
NG 4TH 22 23 26 22 27 24 25 34 25 26 35 35 29 24 22 31 32 27 34 16
m/INE 5TH 37 35 30 26 36 33 33 38 33 39 29 34 36 27 43 31 26 25 31 31
mE/INE 1TH 18 21 23 18 21 16 24 24 25 19 30 23 27 22 24 18 23 21 18 20
B S 2TH 39 29 37 45 32 34 33 40 33 33 27 24 31 27 22 20 35 31 23 20
B S 3TH 24 33 23 32 35 25 30 22 31 30 18 15 32 32 28 30 28 25 33 25
B ATH 28 31 27 24 36 31 32 23 38 21 24 25 34 12 23 32 24 19 19 23
B S 5TH 22 22 26 21 42 26 34 33 22 29 33 40 33 36 34 26 31 22 31 19
B 6TH 33 23 27 26 22 32 30 20 26 32 28 29 32 27 29 27 37 29 30 17
B S 7TH 55 32 53 41 46 48 43 49 60 49 49 34 48 49 38 38 44 46 35 33
B 8TH 32 26 34 26 35 40 35 31 23 20 32 21 27 36 26 24 17 23 17 23
d/hE 1TH 22 17 18 17 23 12 20 26 15 13 17 22 14 22 21 23 17 12 18 13
d/hE 2TH 41 41 41 41 42 49 44 45 48 44 39 42 41 25 51 45 39 46 33 34
d/hE 3TH 21 10 20 21 23 11 17 17 30 17 21 16 14 19 15 23 10 16 20 17
d/hE ATH 41 26 40 31 45 33 37 39 47 28 40 29 29 34 33 39 26 33 21 38
d/hE 5TH 19 23 25 19 21 24 23 23 30 17 23 17 28 15 13 27 24 18 15 20
d/hE 6TH 38 37 39 21 41 29 42 35 49 39 41 42 61 31 30 31 28 30 33 19
d/hE 7TH 17 22 32 34 28 19 32 26 26 28 33 22 21 14 13 27 29 17 22 23
dt/ha 8TH 38 28 23 42 39 34 36 26 41 36 32 34 31 30 29 24 28 26 24 29
&5 798 750 798 776 899 750 855 817 892 739 803 734 820 735 753 727 690 670 699 623 \
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BT T &5 -E55 - B&h et GIFIRX)

BT T BAl- 55 - B&h R (EREAXG/RAD)

UNBEEFHFS) SHM3FE5H1H
7R 56% 575% 587% 597% 607% 617% 627% 63i% 647% 657%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 27 28 28 26 34 21 26 21 34 19 18 21 20 23 26 22 18 14 20 16
HING 2TH 15 13 10 10 15 6 9 7 14 10 9 6 10 8 7 9 8 14 10 5
ENY= 3TH 20 18 20 16 27 25 23 13 9 17 12 16 18 12 13 12 11 13 16 9
HINE 4TH 27 23 23 19 25 20 24 19 12 15 17 13 22 14 18 23 19 13 16 15
HINE 5TH 20 25 30 28 12 36 26 27 26 28 27 23 21 22 21 17 23 13 14 15
HINE 6TH 23 32 27 17 18 21 22 16 20 14 10 20 24 23 17 22 17 14 19 15
NG 1TH 45 40 45 41 36 27 26 37 32 35 31 25 28 20 28 26 30 18 30 28
LN = 2TH 14 13 15 14 14 10 13 11 13 11 8 11 11 11 7 6 11 8 12 22
NG 3TH 38 32 37 31 39 42 33 25 18 27 19 29 28 31 36 30 31 22 27 24
mIhNg 4TH 23 21 27 22 24 18 19 17 17 13 23 25 19 17 12 17 28 14 20 17
NG 5TH 26 33 27 33 23 20 28 21 21 27 20 17 30 12 21 14 24 18 11 26
mE/INE 1TH 15 18 22 17 11 10 9 11 14 14 10 8 9 11 11 5 12 8 9 11
mE/NhNE 2TH 26 32 26 23 20 24 22 16 34 18 15 21 17 17 14 6 23 12 13 10
m/NhNE 3TH 30 24 19 18 29 20 35 20 17 19 18 24 26 11 18 17 22 11 22 16
mE/hNE ATH 31 28 19 21 27 15 25 19 19 7 14 22 14 16 26 18 18 18 16 13
mE/NhNE 5TH 24 31 34 33 21 34 28 26 31 26 33 17 18 26 23 24 28 20 20 16
mE/hNE 6TH 32 26 26 22 21 32 28 28 23 23 26 21 27 23 28 17 14 28 21 20
m/hNE 7TH 41 35 44 38 45 19 29 32 38 31 33 29 35 27 26 27 30 29 27 20
m/hNE 8TH 27 16 25 15 20 19 21 19 24 22 30 20 18 24 17 22 12 11 17 17
d/hE 1TH 16 5 20 20 8 15 10 14 17 13 8 14 9 18 20 18 13 13 17 12
d/hE 2TH 48 48 43 47 30 30 36 27 37 39 34 33 29 27 21 28 29 25 22 30
d/hE 3TH 15 10 25 11 26 21 12 9 10 16 11 8 11 7 13 14 13 12 9 19
d/hE ATH 28 23 25 37 38 26 29 20 23 22 31 26 22 20 27 18 27 16 25 21
d/hE 5TH 19 19 22 16 19 24 19 15 15 24 20 16 24 14 15 21 17 17 18 22
d/hE 6TH 23 23 32 25 24 28 32 22 31 29 21 22 30 28 34 21 28 23 22 29
d/hE 7TH 16 15 18 13 18 13 14 18 23 17 21 28 20 14 8 16 23 4 17 19
dt/ha 8TH 28 19 26 23 40 23 23 21 21 23 17 17 19 19 25 17 22 14 17 19
&5 697 650 715 636 664 599 621 531 593 559 536 532 559 495 532 487 551 422 487 486
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITBA-E55-BLh #Hitx (EEREAXREIRAOD)
UNBEEFHFS) SHM3FE5H1H
R 667% 677% 687% 697% 705% % 125% 135% 145% 15i%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 18 21 14 22 20 18 21 22 22 27 26 28 24 20 26 26 18 29 8 10
HING 2TH 12 13 14 5 11 8 6 6 7 3 14 12 8 14 16 17 8 7 6 6
ENY= 3TH 13 6 19 15 10 9 13 7 23 14 15 25 23 19 13 22 14 14 15 10
HING 4TH 17 23 15 20 19 17 16 19 23 15 23 15 36 34 29 19 23 22 10 20
HINE 5TH 22 23 20 20 21 18 16 23 20 28 28 25 30 33 31 35 23 18 7 13
HINE 6TH 16 20 19 17 18 20 22 11 25 23 17 24 23 30 26 26 17 32 6 17
NG 1TH 25 32 25 18 31 28 36 34 31 34 24 45 35 28 35 32 34 38 21 15
LN = 2TH 14 9 13 9 8 11 28 6 11 14 9 12 14 16 15 17 20 15 6 10
NG 3TH 28 35 34 24 26 23 33 33 45 35 41 31 37 42 28 39 21 31 16 19
NG 4TH 22 21 19 12 20 23 12 17 16 22 14 25 25 26 21 24 20 21 14 16
NG 5TH 21 20 15 14 24 19 26 19 21 19 25 16 26 19 23 38 20 16 10 16
m/hNE 1TH 12 14 10 8 15 9 7 9 13 10 15 11 11 13 13 10 7 14 5 9
mE/NhNE 2TH 14 14 11 18 19 28 15 12 28 30 23 31 27 23 29 35 30 46 16 16
m/NhNE 3TH 15 12 18 15 19 24 21 15 14 17 14 20 14 15 27 23 18 16 13 19
mE/hNE ATH 11 18 19 19 18 19 18 15 21 22 13 19 27 25 15 30 15 22 13 12
mE/NhNE 5TH 17 17 21 21 32 18 20 21 24 21 24 22 27 22 29 17 24 17 13 21
mE/hNE 6TH 33 18 24 24 29 25 20 27 27 24 30 37 44 29 33 36 20 27 17 22
m/hNE 7TH 13 21 19 27 22 42 31 25 38 30 32 52 34 46 41 42 33 34 21 25
m/hNE 8TH 25 12 22 19 19 13 15 20 25 20 16 18 24 15 25 25 16 26 14 16
d/hE 1TH 9 15 17 14 19 10 9 13 11 16 15 20 15 19 19 22 11 13 10 15
d/hE 2TH 31 36 26 28 24 40 34 32 37 35 44 45 45 31 40 42 30 27 16 23
d/hE 3TH 14 12 10 10 13 10 16 20 11 19 23 19 28 11 17 22 9 16 10 2
d/hE ATH 24 25 28 23 16 18 20 27 29 21 28 22 28 33 31 34 21 25 15 12
d/hE 5TH 13 20 16 12 20 17 17 17 22 21 21 20 29 20 25 35 23 19 17 16
d/hE 6TH 39 20 24 26 16 23 29 32 33 22 38 33 39 29 38 33 31 37 22 18
d/hE 7TH 23 16 12 17 12 15 15 14 15 16 18 15 25 15 25 29 13 20 12 9
dt/ha 8TH 25 17 14 18 25 13 11 24 21 11 22 26 25 26 25 22 17 23 7 19
&5 526 510 498 475 526 518 527 520 613 569 612 668 723 653 695 752 536 625 340 406 |
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BT T &5 -E55 - B&h et GIFIRX)

BT T BAl- 55 - B&h R (EREAXG/RAD)

UNBEEFHFS) SHM3FE5H1H
R 767% 175% 787% 797% 807% 81%% 827% 83i% 847% 85
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 12 25 21 19 18 25 20 21 12 25 14 19 19 19 11 13 10 16 12 22
RING 2TH 8 13 5 8 8 13 11 7 4 9 6 10 2 8 5 6 6 3 2 10
ENY= 3TH 15 14 22 21 14 10 11 23 12 9 11 9 8 14 8 13 4 13 6 14
RING 4TH 18 16 16 21 19 23 14 22 11 22 11 10 14 18 12 22 13 16 9 23
EXINY = 5TH 15 19 21 21 13 25 17 18 17 12 12 20 9 6 11 24 8 11 11 26
ENY= 6TH 20 16 12 16 15 16 18 18 14 16 7 14 10 9 9 18 8 22 11 17
NG 1TH 24 31 22 27 20 30 16 28 18 36 17 29 14 11 5 13 12 20 16 32
NG 2TH 5 13 7 7 8 17 4 13 14 6 5 6 3 7 4 9 2 8 4 13
NG 3TH 31 28 18 32 14 15 21 30 15 24 13 25 12 23 16 29 13 23 13 16
NG 4TH 14 19 15 20 15 12 17 27 10 16 6 17 9 14 8 12 5 16 10 9
NG 5TH 11 12 19 16 11 18 13 14 7 15 10 13 8 10 13 11 5 15 4 9
mE/INE 1TH 8 10 8 15 9 15 11 12 10 9 5 8 12 17 7 17 14 7 4 9
mE/NhNE 2TH 14 16 20 30 11 34 20 37 18 27 16 22 16 28 16 32 11 20 11 36
m/NhNE 3TH 12 16 21 19 16 21 19 27 13 18 12 18 10 11 12 14 12 16 8 18
mE/hNE ATH 18 10 15 28 22 20 22 27 11 31 16 12 8 14 13 19 15 14 9 22
mE/NhNE 5TH 17 16 27 14 15 30 13 23 11 20 13 18 9 20 12 18 10 19 10 24
mE/hNE 6TH 27 39 22 26 23 18 15 19 13 29 11 24 12 12 7 15 19 26 16 14
m/hNE 7TH 22 27 41 42 29 35 24 46 16 19 23 31 16 26 19 30 17 27 23 30
m/hNE 8TH 12 25 15 18 15 25 14 10 20 6 9 19 5 15 6 17 7 7 10 7
d/hE 1TH 7 7 9 16 10 13 10 15 4 12 3 8 2 2 2 9 5 4 3 13
d/hE 2TH 24 28 24 31 23 21 12 29 16 37 14 28 10 17 14 25 13 24 19 20
d/hE 3TH 16 13 7 12 13 14 10 17 8 17 9 15 8 14 4 15 10 11 7 7
d/hE ATH 25 25 19 25 16 35 25 29 15 25 9 24 12 15 17 21 18 13 15 14
d/hE 5TH 12 8 15 14 13 17 15 19 13 15 17 18 4 5 2 21 10 15 7 16
d/hE 6TH 17 34 22 21 22 20 24 32 12 21 21 24 9 15 13 20 14 19 7 11
d/hE 7TH 10 14 16 19 12 16 15 17 18 13 7 16 13 16 8 18 6 15 3 15
dt/ha 8TH 16 11 14 23 11 22 27 22 10 15 17 24 17 13 14 16 10 19 7 15
&5 430 505 473 561 415 560 438 602 342 504 314 481 271 379 268 477 277 419 257 462
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BT T &5 -E55 - B&h et GIFIRX)

BT T BAl- 55 - B&h R (EREAXG/RAD)

UNBEEFHFS) SHM3FE5H1H
R 867% 87 88i% 89i% 907% 9158 927 93 947% 955%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 10 15 10 9 4 8 5 9 2 10 0 7 3 5 1 5 0 2 2 2
ENY= 2TH 2 4 3 3 1 5 4 7 2 2 1 10 3 6 5 1 1 2 0 0
ENY= 3TH 7 12 6 12 3 6 7 5 5 7 1 10 2 3 1 5 0 4 4 3
HING 4TH 17 16 4 12 8 19 3 11 3 16 2 12 5 10 4 4 0 4 0 4
EXINY = 5TH 1 15 11 15 5 11 7 11 3 10 1 6 3 5 1 7 3 6 0 6
ENY= 6TH 6 12 8 12 5 18 5 10 6 4 2 6 3 7 1 4 1 5 0 4
NG 1TH 8 17 10 18 7 18 6 17 5 4 3 7 3 10 3 7 1 7 1 7
NG 2TH 3 4 7 3 4 3 2 5 1 5 1 6 1 3 1 7 0 1 0 3
NG 3TH 15 22 9 16 8 15 6 12 9 14 6 15 7 13 3 7 4 8 5 4
NG 4TH 5 19 6 15 6 14 2 9 8 8 2 5 2 3 1 3 1 3 2 0
NG 5TH 2 13 4 8 0 9 4 8 4 12 2 10 4 3 0 4 3 3 1 2
mE/INE 1TH 6 13 6 5 1 8 4 4 1 3 3 1 0 3 0 1 0 2 1 1
mE/NhNE 2TH 19 14 13 16 6 13 8 13 8 5 2 8 2 13 0 7 1 1 2 2
m/NhNE 3TH 7 12 5 7 4 11 1 7 5 10 8 6 3 12 0 7 1 6 1 6
mE/hNE ATH 7 22 6 7 8 14 4 10 5 14 1 4 0 6 1 2 0 3 0 3
mE/NhNE 5TH 7 14 5 12 4 10 7 18 7 8 0 13 5 9 2 9 2 10 3 2
mE/hNE 6TH 11 16 9 15 12 16 1 16 4 16 1 14 2 9 1 6 2 5 2 7
m/hNE 7TH 17 18 10 17 7 17 8 11 5 15 3 7 2 3 2 6 2 6 1 3
m/hNE 8TH 1 18 3 12 9 12 2 6 5 7 5 3 0 4 0 5 1 2 1 4
d/hE 1TH 6 6 4 4 2 6 2 5 1 3 2 1 0 3 0 4 1 1 2 3
d/hE 2TH 5 23 6 19 9 12 9 8 8 15 5 13 3 9 2 9 1 0 1 5
d/hE 3TH 7 7 3 6 4 4 4 5 2 3 2 3 2 3 2 0 0 5 1 3
d/hE ATH 12 18 5 10 8 13 8 10 3 8 3 12 2 5 1 9 1 3 0 5
d/hE 5TH 5 11 3 12 5 8 5 9 4 9 3 2 3 14 1 3 2 8 1 4
d/hE 6TH 9 20 10 10 9 16 3 12 4 12 6 9 3 4 1 2 1 7 1 7
d/hE 7TH 9 13 7 1 8 13 2 10 3 9 4 1 2 4 1 6 1 2 0 5
dt/ha 8TH 11 14 5 11 3 12 5 8 6 9 0 7 5 7 0 4 0 0 0 1
&5 215 388 178 297 150 311 124 256 119 238 69 208 70 176 35 134 30 106 32 96
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNEEFS) SM3FES5/81H
R 1067 1075% 1085% 1097% 110%% 1115 125% 1135% 1145% e &5
5 = L = g8 = g8 % L ©

HING 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2045 2035
HING 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 827 812
H/IMNE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1418 1,358
XN = 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,696 1,817
HINE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,842 1,921
H/IMNE 6TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1617 | 1,647
m/IhNE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2769 | 2,756
LN = 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,112 1,074
m/IhNE 3TH 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0| 2565 2679
N = 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1645 1,624
m/IhNE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1929 | 1,882
m/hNE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,093 1,079
mE/NhNE 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1669 1,784
m/NhNE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,753 | 1,647
mE/hNE ATH 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0/ 1612| 1,602
mE/NhNE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1954 1,884
mE/hNE 6TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2012 2,007
m/hNE 7TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2789 | 2762
m/hNE 8TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,826 | 1,765
d/hE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o| 1,110 1,157
d/hE 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2658| 2718
d/hE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,293 | 1,242
d/hE 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2326 2177
d/hE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1532 1517
d/hE 6TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2357| 2263
d/hE 7TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,604| 1612
dt/ha 8TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o/ 1,817 | 1,894
&5 0 0 0 0 0 1 0 0 0 1 0 0 0 0 0 0 0 0| 48870 | 48,715
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